1.47 1)
£2(x)+%(x) =2[ (f +9)(x)-1]= F2(x)+g?(x) = 2f (x)+2g(x) -2 =
= £2(x)—2f (x) +1+9? (x)—29(x) +1=0=[f (x)-1] +[g(x)-1] =0
Opog [f(x)-1] 20 ka [g(x)-1] 20

Apa vTOYPEMTIKA

f(x)—1=0 f(x)
{g<x>—1=o:”{g<x>
(T 00

2(f +9) (X[ (F+a)(x)-2x]<((F+o)(x)) -[(F-9) ()] ~ax* =
=21 (x)+g(x)][F (x)+a(x)-2x]<[F () +g(x)] ~[f (x)~g(x)] ~4x* =
=21 (x)+g(x)][F (x)+a(x)-2x]<[F () +g(x)] ~[f (x)-g(x)] ~4x* =
=[2f (x)+2g(x)][f(x)+g(x)-2x] < F?(x)+2f (x)g (x)+g* (x) -
—[£2(x)-2f (x)g(x)+0° (x) | -4x* =
= 2f2 (%) +2f (x) g (X) — 4xF (X)+ 2f (x) g (x) +29? (X) —4xg(x) <

< £24K) +2f (x) g (x) + g4K) — F24K) +2f (x)g(x) - g4K) —4x* =
= 2f%(X)+2g° (x)+ 4F (JG(X) —4xf (x)—4xg(x) < 4F (Jg(X) —4x° =

Sroupovpe pe 2

= 2f?(x)+29%(x)—4xf (x)-4xg(x)+4x*<0 =

1
1:>f(x):g(x)

147  2)

=f2(x)+0g°(x)—2xf (x)—2xg(x)+2x* <0 =
= 72 (x)+9°(X)—2xf (x)—2xg(X)+ X" +x? sO:[f(x)—x]z+[g(x)—x]2 <0

Opag [ f (x)—x]2 >0 Kat [g(x)—x]2 >0

Ondte vmoypemTIKd gfvan

{f(x)—x=O:> f(x)=x

g(x)-x=0 |g(x)=x




